



On Generalized Stieltjes Functions

Koumandos, Stamatis; Pedersen, Henrik L.

Published in:
Constructive Approximation

DOI:
[10.1007/s00365-018-9440-8](https://doi.org/10.1007/s00365-018-9440-8)

Publication date:
2019

Document version
Peer reviewed version

Citation for published version (APA):
Koumandos, S., & Pedersen, H. L. (2019). On Generalized Stieltjes Functions. *Constructive Approximation*, 50(1), 129-144. <https://doi.org/10.1007/s00365-018-9440-8>

On generalized Stieltjes functions

Stamatis Koumandos and Henrik L. Pedersen*

May 4, 2018

Abstract

It is shown that a function f is a generalized Stieltjes function of order $\lambda > 0$ if and only if $x^{1-\lambda}(x^{\lambda-1+k}f(x))^{(k)}$ is completely monotonic for all $k \geq 0$, thereby complementing a result due to Sokal. Furthermore, a characterization of those completely monotonic functions f for which $x^{1-\lambda}(x^{\lambda-1+k}f(x))^{(k)}$ is completely monotonic for all $k \leq n$ is obtained in terms of properties of the representing measure of f .

2010 Mathematics Subject Classification: Primary: 44A10, Secondary: 26A48

Keywords: Laplace transform, Generalized Stieltjes function, completely monotonic function

1 Introduction

In this paper we investigate a real-variable characterization of generalized Stieltjes functions obtained by Sokal, see [9].

Let $\lambda > 0$ be given. A function $f : (0, \infty) \rightarrow \mathbb{R}$ is called a generalized Stieltjes function of order λ if

$$f(x) = \int_0^\infty \frac{d\mu(t)}{(x+t)^\lambda} + c,$$

where μ is a positive measure on $[0, \infty)$ making the integral converge for $x > 0$ and $c \geq 0$.

The class of ordinary Stieltjes functions is the class of generalized Stieltjes functions of order 1.

A C^∞ -function f on $(0, \infty)$ is completely monotonic if $(-1)^n f^{(n)}(x) \geq 0$ for all $n \geq 0$ and all $x > 0$. Bernstein's theorem characterizes these functions

*Research supported by grant DFF4181-00502 from The Danish Council for Independent Research | Natural Sciences

as Laplace transforms of positive measures: f is completely monotonic if and only if there exists a positive measure μ on $[0, \infty)$ such that $t \mapsto e^{-xt}$ is integrable w.r.t. μ for all $x > 0$ and

$$f(x) = \int_0^\infty e^{-xt} d\mu(t),$$

cf. [11, p. 161]. We remark that f is a generalized Stieltjes function of order λ if and only if

$$f(x) = \int_0^\infty e^{-xt} t^{\lambda-1} \varphi(t) dt + c, \quad x > 0 \quad (1)$$

for some completely monotonic function φ , and some non-negative number c . See [4, Lemma 2.1].

Sokal (see [9]) introduced for $\lambda > 0$ the operators

$$T_{n,k}^\lambda(f)(x) \equiv (-1)^n x^{-(n+\lambda-1)} \left(x^{k+n+\lambda-1} f^{(n)}(x) \right)^{(k)}, \quad n, k \geq 0$$

and obtained the following characterization.

Theorem 1.1 *The following are equivalent for a C^∞ -function f defined on $(0, \infty)$.*

(a) f is a generalized Stieltjes function of order λ ;

(b) $T_{n,k}^\lambda(f)(x) \geq 0$ for all $x > 0$, and $n, k \geq 0$.

Sokal's characterization is an extension of Widder's characterization of the class of ordinary Stieltjes functions: f is a Stieltjes function if and only if the function $(x^k f(x))^{(k)}$ is completely monotonic for all $k \geq 0$. (See [10].)

In [5, Theorem 1.5] an analogue of Sokal's result where the function φ in (1) is absolutely monotonic is obtained. See also [3, Theorem 2] for a result complementing [5, Theorem 1.1].

Remark 1.2 *Notice that, by Leibniz' rule,*

$$x^{-(n+\lambda-1)} \left(x^{k+n+\lambda-1} f^{(n)}(x) \right)^{(k)} = \sum_{j=0}^k \binom{k}{j} \frac{\Gamma(n+k+\lambda)}{\Gamma(n+j+\lambda)} x^j f^{(n+j)}(x).$$

In this paper we first show that condition (b) in Sokal's theorem above can be replaced by the condition that

$$c_k^\lambda(f)(x) \equiv x^{1-\lambda} (x^{\lambda-1+k} f(x))^{(k)}$$

is completely monotonic for all k . There is a simple relation between $T_{n,k}^\lambda(f)$ and $c_k^\lambda(f)$:

Proposition 1.3 *The relation*

$$T_{n,k}^\lambda(f)(x) = (-1)^n c_k^\lambda(f)^{(n)}(x)$$

holds for any $n, k \geq 0$ and $x > 0$.

Corollary 1.4 *The following are equivalent for a function $f \in C^\infty((0, \infty))$.*

- (i) f is a generalized Stieltjes function of order λ ;
- (ii) $c_k^\lambda(f)$ is completely monotonic for all $k \geq 0$.
- (iii) $T_{n,k}^\lambda(f) \geq 0$ for all $n \geq 0$ and all $k \geq 0$.

In [4] the generalized Stieltjes functions corresponding to measures having moments of all orders were characterized in terms of properties of remainders in asymptotic expansions. (A measure μ has moments of all orders if any polynomial is integrable w.r.t. μ .) In view of the results in the present paper we notice the following corollary. The proof follows by combining Corollary 1.4 with [4, Theorem 3.2] and [4, Lemma 3.1].

Corollary 1.5 *The following are equivalent for a function $f : (0, \infty) \rightarrow \mathbb{R}$.*

- (i) f is a generalized Stieltjes function corresponding to a measure μ having moments of all orders;
- (ii) $c_k^\lambda(f)$ is completely monotonic for all $k \geq 0$ and the function $x^{\lambda-1}f(x)$ admits for any n an asymptotic expansion

$$x^{\lambda-1}f(x) = \sum_{k=0}^{n-1} \frac{\alpha_k}{x^{k+1}} + r_n(x),$$

in which $x^n r_n(x) \rightarrow 0$ as $x \rightarrow \infty$.

In the affirmative case, $\alpha_k = (-1)^k (\lambda)_k s_k(\mu)/k!$ where $s_k(\mu)$ is the k 'th moment of μ , and r_n has the representation

$$r_n(x) = \frac{(-1)^n x^{\lambda-1}}{\Gamma(\lambda)} \int_0^\infty e^{-xt} t^{\lambda-1} \xi_n(t) dt,$$

where ξ_n belongs to $C^\infty([0, \infty))$, and satisfies $\xi_n^{(j)}(0) = 0$ for $j \leq n-1$ and $0 \leq \xi_n^{(n)}(t) \leq s_n(\mu)$ for $t \geq 0$. Furthermore,

$$c_n^\lambda(f)(x) = x^{1-\lambda} (x^n r_n(x))^{(n)} = c_n^\lambda \left(\mathcal{L} \left(\frac{t^{\lambda-1} (-1)^n \xi_n(t)}{\Gamma(\lambda)} \right) \right) (x).$$

Our aim is also to characterize, for any given positive integer N , those functions f for which $c_0^\lambda(f), \dots, c_N^\lambda(f)$ are completely monotonic. In the case where $\lambda = 1$ this has been carried out in [6], but the case of general λ requires, as we shall see, additional insight.

We thus introduce the classes \mathcal{C}_N^λ as

$$\mathcal{C}_N^\lambda = \{f \in C^\infty((0, \infty)) \mid c_k^\lambda(f) \text{ is completely monotonic for } k = 0, \dots, N\}.$$

We shall use some distribution theory so we briefly describe our notation. The action of a distribution u on a test function φ (an infinitely often differentiable function of compact support in $(0, \infty)$) is denoted by $\langle u, \varphi \rangle$. The distribution ∂u is defined via $\langle \partial u, \varphi \rangle = -\langle u, \varphi' \rangle$. A standard reference to distribution theory is [7].

Our results can be formulated as follows.

Theorem 1.6 *Let $\lambda > 0$ be given, and let $N \geq 1$. The following properties of a function $f : (0, \infty) \rightarrow \mathbb{R}$ are equivalent.*

- (a) $f \in \mathcal{C}_N^\lambda$;
- (b) f can be represented as

$$f(x) = c + \int_0^\infty e^{-xs} s^{\lambda-1} d\mu(s),$$

where $c \geq 0$, and μ is a positive measure on $(0, \infty)$ for which $\mu_k \equiv (-1)^k s^k \partial^k \mu$, (in distributional sense) is a positive measure such that

$$\int_0^\infty e^{-xs} s^{\lambda-1} d\mu_k(s) < \infty, \quad k = 0, \dots, N.$$

In the affirmative case,

$$c_k^\lambda(f)(x) = x^{1-\lambda} \left(x^{\lambda-1+k} f(x) \right)^{(k)} = \int_0^\infty e^{-xs} s^{\lambda-1} d\mu_k(s) + (\lambda)_k c$$

for $k = 0, \dots, N$.

We notice the following corollary characterizing those non-negative functions f for which $c_1^\lambda(f)$ is completely monotonic. The proof follows from Proposition 2.3 and Lemma 3.5.

Corollary 1.7 *Let f be a non-negative C^∞ -function defined on $(0, \infty)$. Then $x^{1-\lambda} (x^\lambda f(x))' = \lambda f(x) + x f'(x)$ is completely monotonic if and only if*

$$f(x) = \alpha + \frac{\beta}{x^\lambda} + \int_0^\infty e^{-xs} s^{\lambda-1} \int_s^\infty \frac{d\mu(t)}{t^\lambda} ds,$$

for some non-negative numbers α and β and some positive measure μ on $(0, \infty)$ making the integral convergent.

Remark 1.8 *It is easy to see that $e^{-xs} s^{\lambda-1} \int_s^\infty d\mu(t)/t^\lambda$ is integrable on $(0, \infty)$ if and only if $s^{\lambda-1} \int_s^\infty d\mu(t)/t^\lambda$ is integrable at 0, and that this is the case if and only if $\int_0^1 d\mu(t) < \infty$ and $\int_1^\infty d\mu(t)/t^\lambda < \infty$.*

Corollary 1.7 can be reformulated as follows. Let g be a non-negative C^∞ -function on $(0, \infty)$. Then $x^{1-\lambda} g'(x)$ is completely monotonic if and only if

$$g(x) = \alpha x^\lambda + \beta + \int_0^\infty \int_0^{xt} e^{-u} u^{\lambda-1} du \frac{d\mu(t)}{t^\lambda}. \quad (2)$$

Formulated in this way the corollary is related to the class of Bernstein functions. A Bernstein function is by definition a non-negative function g on $(0, \infty)$ for which g' is completely monotonic. These functions admit an integral representation (see [8, Theorem 3.2] or [2]), which we for the reader's convenience state here: g is a Bernstein function if and only if

$$g(x) = \alpha x + \beta + \int_0^\infty (1 - e^{-xt}) d\nu(t),$$

where α and β are non-negative numbers, and ν , called the Lévy measure, is a positive measure on $(0, \infty)$ satisfying $\int_0^1 t d\nu(t) < \infty$ and $\int_1^\infty d\nu(t) < \infty$.

When $\lambda = 1$, we have

$$\int_0^{xt} e^{-u} u^{\lambda-1} du = 1 - e^{-xt},$$

and (2) reduces to the integral representation of a Bernstein function with the corresponding Lévy measure being $d\mu(t)/t$. Corollary 1.7 contains a characterization of what could be called “generalized Bernstein functions of order λ ”.

2 Proofs

Proof of Proposition 1.3: The key to the proof is the following relation

$$T_{n,k}^\lambda(f)(x) = (-1)^n \left(\sum_{j=0}^k (\lambda - 1)_{k-j} \binom{k}{j} (x^j f(x))^{(j)} \right)^{(n)}, \quad (3)$$

which we verify now. A standard application of Leibniz' formula yields

$$\begin{aligned} (x^j f(x))^{(j+n)} &= \sum_{l=0}^{n+j} \binom{n+j}{l} (x^j)^{(l)} f^{(n+j-l)}(x) \\ &= \sum_{l=0}^j \binom{n+j}{l} \frac{j!}{(j-l)!} x^{j-l} f^{(n+j-l)}(x) \\ &= \sum_{m=0}^j \binom{n+j}{j-m} \frac{j!}{m!} x^m f^{(n+m)}(x). \end{aligned}$$

Hence, the right hand side of (3) equals

$$\begin{aligned} &(-1)^n \sum_{j=0}^k (\lambda - 1)_{k-j} \binom{k}{j} (x^j f(x))^{(j+n)} \\ &= (-1)^n \sum_{j=0}^k (\lambda - 1)_{k-j} \binom{k}{j} \sum_{m=0}^j \binom{n+j}{j-m} \frac{j!}{m!} x^m f^{(n+m)}(x) \\ &= (-1)^n \sum_{m=0}^k \left\{ \sum_{j=m}^k (\lambda - 1)_{k-j} \binom{k}{j} \binom{n+j}{j-m} \frac{j!}{m!} \right\} x^m f^{(n+m)}(x). \end{aligned}$$

The expression in the brackets can be written in another form. Indeed

$$\sum_{j=m}^k (\lambda - 1)_{k-j} \binom{k}{j} \binom{n+j}{j-m} \frac{j!}{m!} = \binom{k}{m} \frac{\Gamma(n+k+\lambda)}{\Gamma(n+m+\lambda)},$$

by a corollary to the Chu-Vandermonde identity (see [1, p. 70]). This gives us

$$\begin{aligned} &(-1)^n \left(\sum_{j=0}^k (\lambda - 1)_{k-j} \binom{k}{j} (x^j f(x))^{(j)} \right)^{(n)} \\ &= (-1)^n \sum_{m=0}^k \binom{k}{m} \frac{\Gamma(n+k+\lambda)}{\Gamma(n+m+\lambda)} x^m f^{(n+m)}(x) = T_{n,k}^\lambda(f)(x). \end{aligned}$$

For $n = 0$ the identity reads

$$\sum_{j=0}^k (\lambda - 1)_{k-j} \binom{k}{j} (x^j f(x))^{(j)} = T_{0,k}^\lambda(f)(x) = c_k^\lambda(f)(x),$$

and the proposition is proved. \square

To prove Theorem 1.6 we need a few preliminary results.

Lemma 2.1 *For $f \in C^\infty((0, \infty))$ we have*

$$c_{k+1}^\lambda(f)(x) = (\lambda + k)c_k^\lambda(f)(x) + xc_k^\lambda(f)'(x).$$

Proof. This follows by computation:

$$\begin{aligned} c_{k+1}^\lambda(f)(x) &= x^{1-\lambda}(xx^{\lambda-1+k}f(x))^{(k+1)} \\ &= x^{2-\lambda}(x^{\lambda-1+k}f(x))^{(k+1)} + (k+1)x^{1-\lambda}(x^{\lambda-1+k}f(x))^{(k)} \\ &= x^{2-\lambda}(x^{\lambda-1}c_k^\lambda(f)(x))' + (k+1)c_k^\lambda(f)(x) \\ &= xc_k^\lambda(f)'(x) + (\lambda+k)c_k^\lambda(f)(x). \end{aligned}$$

\square

Proposition 2.2 *Suppose that $f \in \mathcal{C}_N^\lambda$, and let for $k = 0, \dots, N$*

$$c_k^\lambda(f)(x) = \int_0^\infty e^{-xs} d\mu_k(s) + b_k,$$

where μ_k is a positive measure on $(0, \infty)$ and $b_k \geq 0$. Then, in the distributional sense,

$$(-1)^k s^k \partial^k (s^{1-\lambda} \mu_0) = s^{1-\lambda} \mu_k.$$

Proof. From Lemma 2.1 it follows that (for $k \leq N-1$)

$$\begin{aligned} \int_0^\infty e^{-xs} d\mu_{k+1}(s) + b_{k+1} &= (\lambda + k) \int_0^\infty e^{-xs} d\mu_k(s) + (\lambda + k)b_k \\ &\quad - x \int_0^\infty se^{-xs} d\mu_k(s). \end{aligned}$$

Letting $x \rightarrow \infty$ yields $b_{k+1} = (\lambda + k)b_k$ so that

$$\begin{aligned} \frac{1}{x} \int_0^\infty e^{-xs} d\mu_{k+1}(s) &= (\lambda + k) \frac{1}{x} \int_0^\infty e^{-xs} d\mu_k(s) \\ &\quad - \int_0^\infty se^{-xs} d\mu_k(s). \end{aligned}$$

By the uniqueness of the Laplace transform we obtain

$$s\mu_k = ((\lambda + k)\mu_k - \mu_{k+1}) * m.$$

(Here, m denotes Lebesgue measure on $(0, \infty)$.) We get by differentiation (as distributions) that

$$s\partial\mu_k = (\lambda + k - 1)\mu_k - \mu_{k+1}.$$

We shall obtain the assertion in the proposition by induction, using this recursive relation: for $k = 0$ the assertion is valid. Before verifying the induction step notice that

$$s\partial(s^k\partial^k(s^{1-\lambda}\mu_0)) = ks^k\partial^k(s^{1-\lambda}\mu_0) + s^{k+1}\partial^{k+1}(s^{1-\lambda}\mu_0).$$

Suppose now that the assertion holds for k . Then

$$\begin{aligned} s^{k+1}\partial^{k+1}(s^{1-\lambda}\mu_0) &= s\partial(s^k\partial^k(s^{1-\lambda}\mu_0)) - ks^k\partial^k(s^{1-\lambda}\mu_0) \\ &= s\partial((-1)^k s^{1-\lambda}\mu_k) - k(-1)^k s^{1-\lambda}\mu_k \\ &= (-1)^k \{s(1-\lambda)s^{-\lambda}\mu_k + s^{1-\lambda}s\partial\mu_k - ks^{1-\lambda}\mu_k\} \\ &= (-1)^k s^{1-\lambda} \{(1-\lambda)\mu_k + (\lambda+k-1)\mu_k - \mu_{k+1} - k\mu_k\} \\ &= (-1)^{k+1} s^{1-\lambda}\mu_{k+1}. \end{aligned}$$

The assertion holds also for $k + 1$, and the assertion follows. \square

Proof that (a) implies (b) in Theorem 1.6. If $f \in \mathcal{C}_N^\lambda$ then the function $c_k^\lambda(f)$ is completely monotonic for $0 \leq k \leq N$. In particular

$$f(x) = c_0^\lambda(f)(x) = \int_0^\infty e^{-xs} d\mu_0(s) + b_0 = \int_0^\infty e^{-xs} s^{\lambda-1} d(s^{1-\lambda}\mu_0)(s) + b_0.$$

Let $\mu = s^{1-\lambda}\mu_0$ and notice that by Proposition 2.2 $(-1)^k s^k \partial^k \mu (= s^{1-\lambda}\mu_k)$ is a positive measure with the property that

$$\int_0^\infty e^{-xs} s^{\lambda-1} d((-1)^k s^k \partial^k \mu)(s) < \infty.$$

Thus (b) follows. \square

The next result is a special case of (b) implies (a) in Theorem 1.6. We state and prove it separately in order to describe the method, which will be alluded to in the following proof.

Proposition 2.3 *Let f have the representation*

$$f(x) = c + \int_0^\infty e^{-xs} s^{\lambda-1} d\mu(s),$$

where $c \geq 0$ and μ is a positive measure on $(0, \infty)$. If $-s\partial\mu(s)$ is a positive measure then

$$c_1^\lambda(f)(x) = \lambda c + \int_0^\infty e^{-xs} s^{\lambda-1} d(-s\partial\mu(s))$$

is completely monotonic.

Proof. Let $n \geq 1$ and take $\varphi_n \in C^\infty((0, \infty))$ such that $0 \leq \varphi_n(t) \leq 1$,

$$\varphi_n(t) = \begin{cases} 0, & t < 1/(2n) \\ 1, & 1/n \leq t \leq n \\ 0, & t > 2n \end{cases},$$

$|\varphi_n'(t)| \leq \text{Const} \cdot n$ for $t \in (1/(2n), 1/n)$, and $|\varphi_n'(t)| \leq \text{Const}$ for $t \in (n, 2n)$.

By definition of the derivative in distributional sense we have

$$\begin{aligned} & \int_0^\infty e^{-xs} s^{\lambda-1} \varphi_n(s) d(-s\partial\mu(s)) \\ &= \langle -s\partial\mu(s), e^{-xs} s^{\lambda-1} \varphi_n(s) \rangle \\ &= \langle \mu, (e^{-xs} s^\lambda \varphi_n(s))' \rangle \\ &= -x \int_0^\infty e^{-xs} s^\lambda \varphi_n(s) d\mu(s) + \int_0^\infty e^{-xs} \lambda s^{\lambda-1} \varphi_n(s) d\mu(s) \\ & \quad + \int_0^\infty e^{-xs} s^\lambda \varphi_n'(s) d\mu(s). \end{aligned}$$

Using dominated convergence it follows that the sum of the first and second term on the right hand side tends to

$$-x \int_0^\infty e^{-xs} s^\lambda d\mu(s) + \lambda \int_0^\infty e^{-xs} s^{\lambda-1} d\mu(s).$$

The third term tends to zero, again due to dominated convergence and the estimate (using $|s\varphi'(s)| \leq \text{Const}$ for $s \leq 1/n$)

$$\begin{aligned} & \int_0^\infty |e^{-xs} s^\lambda \varphi_n'(s)| d\mu(s) \leq \\ & \text{Const} \left(\int_{1/2n}^{1/n} e^{-xs} s^{\lambda-1} d\mu(s) + \int_n^{2n} e^{-xs} s^\lambda d\mu(s) \right). \end{aligned}$$

Hence, letting n tend to infinity, we obtain that

$$\begin{aligned} c_1^\lambda(f)(x) &= \lambda f(x) + x f'(x) \\ &= \lambda c + \lambda \int_0^\infty e^{-xs} s^{\lambda-1} d\mu(s) - x \int_0^\infty e^{-xs} s^\lambda d\mu(s) \\ &= \lambda c + \int_0^\infty e^{-xs} s^{\lambda-1} d(-s\partial\mu(s)). \end{aligned}$$

Thus $c_1^\lambda(f)$ is completely monotonic, and $e^{-xs} s^{\lambda-1}$ is integrable w.r.t. the measure $-s\partial\mu(s)$. \square

Proof that (b) implies (a) in Theorem 1.6. We suppose that f has the representation

$$f(x) = c + \int_0^\infty e^{-xs} s^{\lambda-1} d\mu(s),$$

with $c \geq 0$, and $\mu_k \equiv (-1)^k s^k \partial^k \mu$ being a positive measure for $k = 0, \dots, N$. It is easy to verify that $\mu_{k+1} = k\mu_k - s\partial\mu_k$ for $k = 0, \dots, N-1$. Proposition 2.3 yields that $c_1^\lambda(f)$ is completely monotonic and has the representation

$$c_1^\lambda(f)(x) = \lambda c + \int_0^\infty e^{-xs} s^{\lambda-1} d\mu_1(s).$$

Let us now assume that $c_k^\lambda(f)$ is completely monotonic and has the representation

$$c_k^\lambda(f)(x) = b_k + \int_0^\infty e^{-xs} s^{\lambda-1} d\mu_k(s).$$

Then

$$\begin{aligned} c_{k+1}^\lambda(f)(x) &= (\lambda + k)c_k^\lambda(f)(x) + x c_k^\lambda(f)'(x) \\ &= (\lambda + k) \int_0^\infty e^{-xs} s^{\lambda-1} d\mu_k(s) - x \int_0^\infty e^{-xs} s^\lambda d\mu_k(s) \\ &\quad + (\lambda + k)b_k. \end{aligned}$$

Now, taking φ_n as before it follows that

$$\begin{aligned}
& \int_0^\infty e^{-xs} s^{\lambda-1} \varphi_n(s) d\mu_{k+1}(s) \\
&= \int_0^\infty e^{-xs} s^{\lambda-1} \varphi_n(s) d(k\mu_k - s\partial\mu_k)(s) \\
&= \langle k\mu_k - s\partial\mu_k(s), e^{-xs} s^{\lambda-1} \varphi_n(s) \rangle \\
&= \langle k\mu_k, e^{-xs} s^{\lambda-1} \varphi_n(s) \rangle + \langle \mu_k, (e^{-xs} s^\lambda \varphi_n(s))' \rangle \\
&= -x \int_0^\infty e^{-xs} s^\lambda \varphi_n(s) d\mu_k(s) + (k + \lambda) \int_0^\infty e^{-xs} s^{\lambda-1} \varphi_n(s) d\mu_k(s) \\
&\quad + \int_0^\infty e^{-xs} s^\lambda \varphi_n'(s) d\mu_k(s).
\end{aligned}$$

As before, letting n tend to infinity, and applying dominated convergence we get that

$$c_{k+1}^\lambda(f)(x) = \int_0^\infty e^{-xs} s^{\lambda-1} d\mu_{k+1}(s) + (\lambda + k)b_k$$

is completely monotonic.

In the affirmative case we infer that $b_{k+1} = (\lambda + k)b_k, \dots, b_1 = \lambda c$ yielding $b_k = (\lambda)_k c$. \square

3 Additional results and comments

Suppose that $c_k^\lambda(f)$ is completely monotonic for some $k \geq 1$. What can be said about the functions $c_0^\lambda(f), \dots, c_{k-1}^\lambda(f)$? Are they also completely monotonic? The answer is given in Proposition 3.1.

Proposition 3.1 *Let $k \geq 1, f \in C^\infty((0, \infty))$ and suppose that the functions $c_0^\lambda(f), \dots, c_{k-1}^\lambda(f)$ are non-negative. If $c_k^\lambda(f)$ is completely monotonic then $c_j^\lambda(f)$ is also completely monotonic for $j \leq k - 1$.*

The proof of this proposition requires some preliminary results. Define

$$\gamma_k^\lambda(f)(x) \equiv x^{-\lambda} (x^{\lambda-1+k} f(x))^{(k-1)}, \quad k \geq 1.$$

Notice that $\gamma_k^\lambda(f) = c_{k-1}^{\lambda+1}(f)$.

Lemma 3.2 *For $f \in C^{(k+1)}((0, \infty))$ we have*

$$\gamma_k^\lambda(f)(x) = c_{k-1}^\lambda(f)(x) + (k-1)\gamma_{k-1}^\lambda(f)(x).$$

Proof: This follows by a direct computation. \square

The next lemma is an immediate consequence of Lemma 3.2.

Lemma 3.3 *If $c_j^\lambda(f)(x) \geq 0$ for all $j = 0, \dots, k$ then $\gamma_j^\lambda(f)(x) \geq 0$ for all $j = 1, \dots, k+1$*

Lemma 3.4 *Let $k \geq 1$ be given and assume that $c_j^\lambda(f)(x) \geq 0$ for all $j = 0, \dots, k$. Then:*

$$(i) \quad (x^{\lambda-1+k} f(x))^{(j)} \geq 0 \text{ for all } j = 0, \dots, k;$$

$$(ii) \quad \lim_{x \rightarrow 0} (x^{\lambda-1+k} f(x))^{(j)} = 0 \text{ for all } j = 0, \dots, k-2;$$

$$(iii) \quad \lim_{x \rightarrow 0} (x^{\lambda-1+k} f(x))^{(k-1)} \in [0, \infty);$$

Proof. We use induction in k . For $k = 1$ (i) is clearly satisfied, (ii) needs not be checked, and (iii) follows by noticing that $x^\lambda f(x)$ is non-negative and increasing. For $k = 2$, $(x^{\lambda+1} f(x))'' = x^{\lambda-1} c_2^\lambda(f)(x) \geq 0$, $(x^{\lambda+1} f(x))' = x^\lambda c_1^\lambda(f)(x) + \lambda x^\lambda c_0^\lambda(f)(x) \geq 0$, and thus (i) is satisfied. Property (ii) is clearly satisfied, and (iii) follows since $(x^{\lambda+1} f(x))'$ is non-negative and increasing.

Next we assume that f satisfies $c_j^\lambda(f) \geq 0$ for all $j \leq k+1$, and aim at verifying (i), (ii), and (iii) with k replaced by $k+1$. For $j = k+1$ we get $(x^{\lambda+k} f(x))^{(j)} = x^{\lambda-1} c_{k+1}^\lambda(f)(x) \geq 0$. For $1 \leq j \leq k$ we use

$$(x^{\lambda+k} f(x))^{(j)} = x(x^{\lambda-1+k} f(x))^{(j)} + j(x^{\lambda-1+k} f(x))^{(j-1)} \geq 0,$$

and (i) is verified. To see (ii), notice that

$$(x^{\lambda+k} f(x))^{(k-1)} = x(x^{\lambda-1+k} f(x))^{(k-1)} + (k-1)(x^{\lambda-1+k} f(x))^{(k-2)},$$

The last term tends to zero by the induction hypothesis, and the first term equals x times a non-negative and increasing function. Hence (ii) holds for $k+1$. Property (iii) for $k+1$ follows since $(x^{\lambda+k} f(x))^{(k)}$ is a positive and increasing function. This proves the lemma. \square

Lemma 3.5 *Let $f \in C^\infty((0, \infty))$ and suppose that $c_0^\lambda(f), \dots, c_{k-1}^\lambda(f)$ are non-negative functions. If $c_k^\lambda(f)$ is completely monotonic then $\gamma_k^\lambda(f)$ is also completely monotonic and*

$$\gamma_k^\lambda(f)(x) = \frac{l_k}{x^\lambda} + \frac{b_k}{\lambda} + \int_0^\infty M_k(u) u^{\lambda-1} e^{-xu} du,$$

where

$$M_k(u) = \int_u^\infty s^{-\lambda} d\mu_k(s).$$

Proof. By the complete monotonicity we may write

$$(x^{\lambda-1+k}f(x))^{(k)} = x^{\lambda-1}c_k^\lambda(f)(x) = x^{\lambda-1} \int_0^\infty e^{-xs} d\mu_k(s) + b_k x^{\lambda-1},$$

where $b_k \geq 0$ and μ_k is a positive measure on $(0, \infty)$. The assumptions on non-negativity yield that the function $x^\lambda \gamma_k^\lambda(f)(x) = (x^{\lambda-1+k}f(x))^{(k-1)}$ is non-negative and increasing. Hence

$$l_k \equiv \lim_{x \rightarrow 0} x^\lambda \gamma_k^\lambda(f)(x) \geq 0.$$

Furthermore,

$$\begin{aligned} x^\lambda \gamma_k^\lambda(f)(x) - l_k &= \int_0^x (t^{\lambda-1+k}f(t))^{(k)} dt \\ &= \int_0^x t^{\lambda-1} \left(\int_0^\infty e^{-ts} d\mu_k(s) + b_k \right) dt \\ &= \frac{b_k}{\lambda} x^\lambda + \int_0^\infty \int_0^x t^{\lambda-1} e^{-ts} dt d\mu_k(s) \\ &= \frac{b_k}{\lambda} x^\lambda + x^\lambda \int_0^\infty \int_0^s u^{\lambda-1} e^{-xu} du s^{-\lambda} d\mu_k(s) \\ &= \frac{b_k}{\lambda} x^\lambda + x^\lambda \int_0^\infty \int_u^\infty s^{-\lambda} d\mu_k(s) u^{\lambda-1} e^{-xu} du, \end{aligned}$$

by Tonelli's theorem. Consequently,

$$M_k(u) = \int_u^\infty s^{-\lambda} d\mu_k(s)$$

is finite and $M_k(u)u^{\lambda-1}$ is integrable at 0.

The formulas above also show that

$$\gamma_k^\lambda(f)(x) = \frac{l_k}{x^\lambda} + \frac{b_k}{\lambda} + \int_0^\infty M_k(u)u^{\lambda-1}e^{-xu} du$$

is completely monotonic. □

Proof of Proposition 3.1: From Lemma 3.5,

$$(x^{\lambda-1+k}f(x))^{(k-1)} = l_k + \frac{b_k}{\lambda} x^\lambda + x^\lambda \int_0^\infty M_k(u)u^{\lambda-1}e^{-xu} du,$$

where $l_k, b_k \geq 0$ and $M_k(u) = \int_u^\infty s^{-\lambda} d\mu_k(s)$. Notice that

$$u^\lambda M_k(u) \rightarrow 0, \quad u \rightarrow 0. \tag{4}$$

(To see this, rewrite as follows

$$u^\lambda M_k(u) = \int_u^1 \left(\frac{u}{s}\right)^\lambda d\mu_k(s) + u^\lambda \int_1^\infty \frac{d\mu_k(s)}{s^\lambda},$$

and use the dominated convergence theorem on the first term.)

Integrating this relation from ϵ to x , and letting ϵ tend to 0 we get, using (ii) of Lemma 3.4, that

$$\begin{aligned} (x^{\lambda-1+k} f(x))^{(k-2)} &= l_k x + \frac{b_k}{\lambda(\lambda+1)} x^{\lambda+1} \\ &\quad + x^{\lambda+1} \int_0^\infty M_{k,k-1}(u) u^\lambda e^{-xu} du, \end{aligned}$$

where

$$M_{k,k-1}(u) = \int_u^\infty \frac{M_k(s)}{s^2} ds.$$

Continuing this process (using in each step (ii) of Lemma 3.4) we get

$$\begin{aligned} x^{\lambda-1+k} f(x) &= \frac{l_k}{(k-1)!} x^{k-1} + \frac{b_k}{(\lambda)_k} x^{\lambda+k-1} \\ &\quad + x^{\lambda+k-1} \int_0^\infty M_{k,1}(u) u^{\lambda+k-2} e^{-xu} du, \end{aligned} \quad (5)$$

where

$$M_{k,k}(u) = M_k(u), \quad M_{k,j}(u) = \int_u^\infty \frac{M_{k,j+1}(s)}{s^2} ds, \quad j = 1, \dots, k-1.$$

To ease notation we write $M_j(u) = M_{k,j}(u)$. (We remark that M_j does not have the same meaning here as in Lemma 3.5.) Division by $x^{\lambda-1+k}$ in (5) shows that f is completely monotonic, and has the representation

$$\begin{aligned} f(x) &= \frac{l_k}{(k-1)!} x^{-\lambda} + \frac{b_k}{(\lambda)_k} + \int_0^\infty M_1(u) u^{\lambda+k-2} e^{-xu} du \\ &= \frac{b_k}{(\lambda)_k} + \int_0^\infty \left(M_1(u) u^{k-1} + \frac{l_k}{(k-1)! \Gamma(\lambda)} \right) e^{-xu} u^{\lambda-1} du. \end{aligned} \quad (6)$$

In order to show that the functions $c_1^\lambda(f), \dots, c_{k-1}^\lambda(f)$ are completely monotonic it suffices (Theorem 1.6) to verify that $(-1)^j \partial^j (M_1(u) u^{k-1}) \geq 0$ for $j = 1, \dots, k-1$. Now,

$$M_1(u) u^{k-1} = u^{k-1} \int_u^\infty \frac{M_2(s)}{s^2} ds = \int_1^\infty \frac{M_2(ut) (ut)^{k-2}}{t^k} dt,$$

so it is enough to verify that $(-1)^j \partial^j (M_2(u)u^{k-2}) \geq 0$ in order to obtain that $(-1)^j \partial^j (M_1(u)u^{k-1}) \geq 0$. Repeating this argument we end up having to verify that

$$(-1)^j \partial^j (M_{k-j+1}(u)u^{j-1}) \geq 0, \quad 1 \leq j \leq k-1. \quad (7)$$

These inequalities are verified using induction. For $j = 1$ it reads $\partial M_k(u) \leq 0$ which is true since M_k is a decreasing function. Next assuming that (7) holds for some $j \leq k-2$ we aim at verifying it for $j+1$. We rewrite the expression $(-1)^{j+1} \partial^{j+1} (M_{k-j}(u)u^{j+1})$ in two ways:

$$\begin{aligned} (-1)^{j+1} \partial^{j+1} (M_{k-j}(u)u^{j+1}) &= (-1)^{j+1} u \partial^{j+1} (M_{k-j}(u)u^j) \\ &\quad + (-1)^{j+1} (j+1) \partial^j (M_{k-j}(u)u^j); \\ (-1)^{j+1} \partial^{j+1} (M_{k-j}(u)u^{j+1}) &= (-1)^{j+1} \partial^j \left(-\frac{M_{k-j+1}(u)}{u^2} u^{j+1} \right) \\ &\quad + (-1)^{j+1} (j+1) \partial^j (M_{k-j}(u)u^j). \end{aligned}$$

Comparing these two identities we infer that

$$(-1)^{j+1} u \partial^{j+1} (M_{k-j}(u)u^j) = (-1)^j \partial^j (M_{k-j+1}(u)u^{j-1}),$$

and thus (7) holds for $j+1$. \square

Remark 3.6 *Introducing the functions $N_j(u) \equiv M_j(1/u)$ for $j = 1, \dots, k$ where M_1, \dots, M_k are those considered in the proof of Proposition 3.1 it follows that*

$$N_k(u) = \int_{1/u}^{\infty} s^{-\lambda} d\mu_k(s) = \int_0^u t^\lambda d\widehat{\mu}_k(t),$$

where $\widehat{\mu}_k$ denotes the image measure $\phi(\mu_k)$, with $\phi(x) = 1/x$. For $j \leq k-1$ the relation between N_j and N_{j+1} is

$$N_j(u) = \int_{1/u}^{\infty} \frac{M_{j+1}(s)}{s^2} ds = \int_0^u N_{j+1}(t) dt.$$

Consequently we see that the derivatives $N_1^{(j)}(u)$ for $j \leq k-1$ are all non-negative, and take the value 0 at $u = 0$. In terms of these functions the representation (6) can be rewritten as

$$\begin{aligned} f(x) &= \frac{b_k}{(\lambda)_k} + \frac{l_k}{(k-1)!x^\lambda} + \int_0^\infty M_1(u)u^{k-1}e^{-xu}u^{\lambda-1} du \\ &= \frac{b_k}{(\lambda)_k} + \frac{l_k}{(k-1)!x^\lambda} + \int_0^\infty N_1(s)s^{-k-\lambda}e^{-x/s} ds. \end{aligned}$$

The next proposition shows that for any given N the classes \mathcal{C}_N^λ become larger as λ increases. As remarked in [9] it is not clear how to verify this even for $N = \infty$ only considering the operators $T_{n,k}^\lambda$.

Proposition 3.7 *If $\lambda_1 < \lambda_2$ then $\mathcal{C}_N^{\lambda_1} \subset \mathcal{C}_N^{\lambda_2}$ for all N .*

Proof. This follows from Leibniz' formula. Assume $f \in \mathcal{C}_N^{\lambda_1}$ and let $\lambda_2 > \lambda_1$. Then

$$f(x) = c + \int_0^\infty e^{-xs} s^{\lambda_1-1} d\mu(s) = c + \int_0^\infty e^{-xs} s^{\lambda_2-1} s^{\lambda_1-\lambda_2} d\mu(s),$$

where $(-1)^j s^j \partial^j \mu \geq 0$ for all $j \leq N$. Hence, for $k \leq N$,

$$\begin{aligned} & (-1)^k s^k \partial^k (s^{\lambda_1-\lambda_2} \mu) \\ &= (-1)^k s^k \sum_{j=0}^k \binom{k}{j} (-1)^{k-j} \frac{\Gamma(k-j+\lambda_2-\lambda_1)}{\Gamma(\lambda_2-\lambda_1)} s^{\lambda_1-\lambda_2+j-k} \partial^j \mu \\ &= s^{\lambda_1-\lambda_2} \sum_{j=0}^k \binom{k}{j} \frac{\Gamma(k-j+\lambda_2-\lambda_1)}{\Gamma(\lambda_2-\lambda_1)} (-1)^j s^j \partial^j \mu \geq 0. \end{aligned}$$

□

Acknowledgement We wish to thank the referees for the careful reading that helped to improve the presentation of this paper.

References

- [1] G.E. Andrews, R. Askey, R. Roy, Special Functions, Cambridge Univ. Press, Cambridge (1999).
- [2] C. Berg and G. Forst, Potential theory on locally compact abelian groups, *Ergebnisse der Mathematik und ihrer Grenzgebiete* 87, Springer, Berlin Heidelberg New York (1975).
- [3] D.B. Karp and E.G. Prilepkina, Applications of the Stieltjes and Laplace transform representations of the hypergeometric functions, *Integral Transform. Spec. Funct.* **28** (2017), 710–731 (DOI: 10.1080/10652469.2017.1351964)
- [4] S. Koumandos and H.L. Pedersen, On Asymptotic Expansions of Generalized Stieltjes Functions, *Comput. Methods Funct. Theory* **15** (2015), 93–115 (DOI: 10.1007/s40315-014-0094-7).

- [5] S. Koumandos and H.L. Pedersen, On the Laplace transform of absolutely monotonic functions, *Results Math.* (2016) (DOI:10.1007/s00025-016-0638-4).
- [6] H.L. Pedersen, Pre Stieltjes Functions, *Mediterr. J. Math.* **8** (2011), 113–122 (DOI:10.1007/s00009-010-0043-2).
- [7] W. Rudin, *Functional Analysis* (2nd ed.), McGraw-Hill, New York (1991).
- [8] R.L. Schilling, R. Song and Z. Vondraček, Bernstein functions. De Gruyter Studies in Mathematics **37**, De Gruyter, Berlin (2010).
- [9] A.D. Sokal, Real-variables characterization of generalized Stieltjes functions, *Expo. Math.* **28** (2010), 179–185.
- [10] D.V. Widder, The Stieltjes transform. *Trans. Amer. Math. Soc.* **43**, (1938), 7–60.
- [11] D.V. Widder, *The Laplace transform*. Princeton University Press, Princeton (1946).

Stamatis Koumandos
Department of Mathematics and Statistics
The University of Cyprus
P. O. Box 20537
1678 Nicosia, Cyprus
email: skoumand@ucy.ac.cy

Henrik Laurberg Pedersen
Department of Mathematical Sciences
University of Copenhagen
Universitetsparken 5
DK-2100, Denmark
email: henrikp@math.ku.dk